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\\* = 1. Answer ti;e following as directed :  1x8=8 1

fa) The primary outcome of the liberali-
= zation and privatization initiatives
. undtr the New Emmmie Palléy, 1991
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'  fij) globalization s
(iii) monetary mliay
(iv) None of the above




( Choose the correct option )

(d) Mention one n&gattve impact of the
Green Revolution.
e} There are dﬁerentfom;aaf Public
Sector Enterprises in India.
( Fill in the blank )

1, S Bawumm of Promotion of Industry
'“.-Z'__' and "Hﬂ'ﬂﬂl de; is i:he nadal
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5+5+4-14

the heneﬁts ﬂf xustmnahie
e. Also point out its

mm -ﬁ tﬂ, 9+5=14

Give an account of Ihdia’a industrial

grciwth and productivity in the post-
.réﬁbnn.periﬂd; 14

Or
What is the full form of MSME?

Describe the advantages and limitations

of MSME sector in India. 1+7+6=14
‘What are the problems of service sector

in Indta? Hlustrate the role of service

_aﬁﬂhr in Indian economy. : 5+9-14

Or

_hﬁ:ameamteanmctrmdm

chandise trade aml invisible trade
India, ”f'j ' 8+6=14
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